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Lo s o 30 sl e o 2 Jalial 5 set of real numbers Lddall da=Y)
.real line &gidal SacY) daay e
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origin Jee¥) Al e ladaliiy vertical line (g3 see A1 horizontal line
B gl o e (530 plane 5 fna b i) 5 Jimy Yitke
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ptiaall acag s X-aKis pdl (sl iy B pisdl e
Ay A ladalisy Gleiiosl Ghaa g y-axis gabeall Ayl awls (35l
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Positive numbers to the right of the origin and negative numbers to
the left of the origin.

it b o L gl piill ofd y-axis (gl el e ally L
et Ak il (8 Al il L Qo

Positive numbers lying above the origin and negative numbers
lying below the origin.
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sale functions J 52l 5 equations <Y saell 5 points Ll auy (Says
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(0, 0) ety dhats NIy (4, -3) Bl D Ak (-3 , -4)
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:The Distance Formula skulf 2\.-,;2:45 5\3
Cartesian Coordinate System 4y 3 &l ) dlaall Ui cildasind (gan)
The distance between any (s simell (e it ( diludd) slag) s Legly
il o3¢y Auals coordinates cililaayl YA (ys two points in the plane
il o bl b (xz, y2) , (1, y1) ot il of el il
CBSared 30l Lgd s s Distance between these two points (w—ihiall
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d= \/(Xz —xl)z +(y, _)’\)2

S AR 8 L el gy Al gy A5y 5hal s Bk ey

sl JESN 0 €, A il g ddladl 2o f
Find the distance between the points (4,3) and (-3,-4);

using the distance formula sMef 2D padiiu Adlaal) Mgy

d= (x, "-"1)2 +(y, ’yl)z

= (B34 4 (—4-3) = (=7 +(=7) =497 49 = 38

B, A Okl s Adlad aa
Find the distance between the points (-6,-6) and (6,6)

Lyl the distance formula ddbud! dapa (gl

d=4(x -x)? +(yz"y1)z

= J(-6=6 +(=6—6)° = J(-12)* + (~12)* = 144+ 144 = 288
d=16.97056

Ofgaall Jagy o 00 (3) 8, S L84 3 62 el Gae day

4 daad Y 2 Al e 3y (1) J Gotall o s st 4 52
Givk a4 2l 1 Eusdl Jay g o Gulal of s 1 dsadl D& o
Dla e 4 Dl Y2 Aiadh g sl (2) A Gt L L el
Ol aal iz 5 453 cinall o e Gt ey 4 a3 25 )
Gkl Aty Aele/de 60 de s daewy 4 a2 duadl g il
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Towns 1, 2, 3, and 4 are located as in figure (3). Two highways
connect towns and 4. Highway (1), from town 2 to town 4 via town 1,
includes coastal highway joining towns | and 4. And highway (2), from
town 2 to town 4, includes a mountain highway joining towns 3 and 4.
Driver wishes to drive from town 2 to town 4 and can drive with average
of 60 mph using highway (1) and 50 mph using highway (2), Which road
should he take minimizing the time spent for driving.
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di = Jt50~0) +(0=0)" ++/(30-0)2 +(150—0)?

= (1505 +0° + /(50) + (150)°
= ,J(50)* + 2500 + 22500
= 150 + +/25000

=150 + 158.11383 = 308.11388
WIS T) 5o Adluadd ol pladl Ao U Time i ofi il
dy (el Ailunal) 308.11388

Ty el = =514
(T e S (U fielaly el = 60

Aelu 514 s Al adgd o 0 gl of 13a dnys

g Gy Ao shid) dp Alalld (2) Gkl Bl el 1Y LT (2
b Adbuual

da = J(200~150)% + (100 0 + /(50 — 200)* + (150 —100)°

= J(50)% + (100) ++/(~150)? + (50)?

= +/2500+10000 ++/22500 + 2500

= /12500 ++/25000

= 111.8034 + 158.114 = 269.9174 = 270

1 VS Ty b Al oin il o 3 Time gl ofd Sl
da (¥l i) 270

T5) (e M = =54
(T2) &3 S (e fiebdlyde ) = 50

Aola 540 s a0 odgd o DU i gl of b iy
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Graphing linear equations in two variables ¥
Loall S JOAL (o8 fay A e o ol Bulaadl A aladl
R ]
Ax+By=C

(e Lt B, A gl (Kl Alde Sy 3 o0 C,B LA o Qi
.Standard form 4l Axually dapall 038 iy

A N dred Ul JE Jagen e

5x-4y=10,y=3x-3,y=-4,x=6

o ggen gt gl U Gy gy pitas Adad L xe lgngany
.standard form Saula! Aslead o JS81 Y dolell LHCES e ¥ aladl

A3 ¢pe ordered pairs 48 yall £y Y1 sed o ki Aldkaall Ja LS
-salisfy the equation Adasd Fiat Al 458a1

bl Jad s (0, -3) Al el 30 i Qe Jed

Bx+dy=-3(0)+4(3) =-12 10 My 3x4dy=-12

Ut pand Ao panal) 58 0 psies Woleall solution set Jall de yans
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g giad Wild (0 il graph an equation Halea) aay 5 Ledie
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BaY s U85 bagie yand sibu haseial o 5 line

A e o hals Ha by = mx + b D Ax ol S Al
B#0 s Latie Ax + By = C I dapall

o ot st Ll i cgyfipeall G ol oty sy o (S a
& Graph any two points from the solution set Jall Ac ot e (it
cpisnd) Jasl s ) Jiagd dady il Jumd

) Bl W yeaxis f x-axis sasl e i pidl il o Lovie
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S LAY y Gl Sx = 0 o el il pa cladlil o3a ey it
of i i -intercept N el Yo Ayl Adaal) b g i Y
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Sal) Asball sy g (ol aionall Jodlly Logllmd 5 ool ik sy o
ol e g A0 2B

:Graph the following equation 4004 Alslaal) o
3x+4y=12
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LTS peN K e P e | NN N

ki ~4 gy Al Lafy 4 b Raonse R Uisd U ol g8 (mas

o Badly S Al Aatall il g teaed Jpaal 138 Jead il
ey il Gafhanyl aa Alabaal 1ol Uik Las (4, 0) 5 (0,3) cobaia
ply JRAN WS i 58 xy-plane e JalEH &l ou et s intercepts

:‘;lll“ (4)
y
A
6 -
5 (4.6)
4- check point
@.3)
y-intercept 3
2—.
1_
p—t ettt x
~6 ~4 ~3 -2 -1 12 3 4 5 6
x-intercept (-4.0)
(4) b s

~3x+4y=12 Aslaalf iy
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:Slope d,,&l 45']\,

Gghall Aaleall fagall ailiadll e agitudl bl slope el —finy
el 558 04 Vgl afionall Jaall and) bl T 3y b (o ) (e
L&l am el Al ey sl cslope el <D o3¢) mad y JSA Caerstd
U3 e edlad (S (%2, ¥2) 5 (X1, Y1) two points (ki el sl wal

:The following formula 46l dual

mh Ay _ Rise

m o=

x,—% Ax  Run

xtt i o x Aad 3 sl e oy Ax ) Cum
ylba T, oy Lad 8 il Gabia Jio Ay ofs
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Y
A

(X2.y2)

(4 Rise = Ay = (yzy1)

> X

(x2.y2)

x50
Run = Ax = (Xp-X;)

(6) by Jsa
slope Jpall fina ppla g

12l aad) Wl dljhn oo Y1 el Bl el f U s
wima gt agage st e 53 peall sl

The slope of a horizontal line is zero, and the slope of a vertical
line is not defined.

ol Jially ol limd (as

sl e s O tenall il ol 2
Find the slope of the line through each pair of points.
a)(2,5)and (4,-7)
(y2) = O Gy = (2, 5) of Ll il oakisly L1 daal ol
RCEY)]
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By _ =75 _ -2 _-12

m=22— o T 70 Tle Tl g

X=X 4-(=2) 4+2 6

L oy AV B st s 0 aied s Y Qe o Jaa
o el b (a2 = (2,9) s Ry = (7)o Ll il L ally

yma _5-CD _5+7_ 12,

m=—=——

X-x% —2-4 -6 -6

b)(-3,-and (-3,5)

tn o (xaya) = (-3,5) s Gy = (31 o ol il

ST h 36D 5+l 6 not defined

m =
%% —3-(3) -3+3 0

pnad) cf gl %= %0 ol e e el o Vaa e
vertical (53 3a

©(6.4),2,2)

3 daall b G, y2) = (6, 4) oy (xe, YD) = (2,2) o ol sl

il S positive G e piied) e 058 o —Sa Adle B3y
Ot o (e ol ptianall Jao 22 Y J Wa h g zer0 i o negative
0 a3 LI Aain e LAY 530 5 undefined G yma e ual
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Line Slope Example
1) Rising Positive (m>{) y
714, b2,
2) Failing Negative {m<0)
m= —l =-1
Ax
3) Vertical Not defined
)
Ax 0
X undefined
(Z,y1)
4) Horizontal Zero (m=10)
A x1y) (xay2)
e Ay _zero
m=—— = —— = 2810
_____X, Ax Ax
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